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• ke=âheÙee peeBÛe keâj ueW efkeâ Fme ØeMve-he$e ceW cegefõle he=‰ 15 leLee            
ØeMve 18 nQ~ 
Please make sure that the printed pages in this 

question paper are 15 in number and it contains 

18 questions. 
• ØeMve-he$e ceW oeefnves neLe keâer Deesj efoÙes ieÙes keâes[ vecyej leLee mesš keâes Úe$e 
Gòej-hegefmlekeâe kesâ cegKÙe-he=‰ hej efueKeW~ 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : C 
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• ke=âheÙee ØeMve keâe Gòej efueKevee Meg™ keâjves mes henues, ØeMve keâe ›eâceebkeâ DeJeMÙe 
efueKeW~ 

Before beginning to answer a question, its Serial 

Number must be written. 

• Gòej-hegefmlekeâe kesâ yeerÛe cebs Keeueer hevves/hevves ve ÚesÌ[W~ 

Don’t leave blank page / pages in your answer-

book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• hejer#eeLeea Dehevee jesue veb0 ØeMve-he$e hej DeJeMÙe efueKeW~ 

Candidates must write their Roll Number on the 

question paper. 

• ke=âheÙee ØeMveeW keâs Gòej osves mes hetJe& Ùen megefveefMÛele keâj ueW efkeâ ØeMve-he$e hetCe& 
Je mener nw, hejer#ee kesâ Ghejevle Fme mecyevOe ceW keâesF& Yeer oeJee mJeerkeâej 

veneR efkeâÙee peeÙesiee~ 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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veesš : (i) meYeer ØeMve DeefveJeeÙe& nQ~ 

   All questions are compulsory. 

  (ii)  Jemlegefve‰ ØeMveeW kesâ mener efJekeâuhe efueKeW~ 

   Write the correct option in objective type 

questions. 

  (iii)  oerIe& Gòej Jeeues ØeMveeW ceW Deebleefjkeâ efJekeâuhe keâe ØeeJeOeeve nw~ 
   Internal choice has been provided in long 

answer type questions. 

  (iv) ØelÙeskeâ ØeMve kesâ Debkeâ Gmekesâ meeceves oMee&Ùes ieÙes nQ~ 
   Marks of each question are indicated against it. 

KeC[  – De 

   SECTION – A [ Marks : 26 

   (Yeeweflekeâ efJe%eeve)  

(Physics) 

  1. (i) e f keâ me er S ke âe b k eâ De e Je sMe ke âe s S ke â e f ye b og me s ot me j s e fye b og  le ke â  uee ve s kes â 

e f ueS  pee s k e âe Ùe& e f ke âÙe e pee le e nw, Gme s oe s e f ye b ogDe e W ke s â yee r Ûe k e â e 

...........................  ke âne pe e l ee nw~ 1 

 (A) e f Je Åeg le d 

 (B) Øe ef le je sOe k e â 

 (C) e f JeYe Je eb le j 

 (D) F ve ce W me s k eâe s F& ve ne R 
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 The work done in bringing a unit charge 

from one point to the other point is called 

the ........................... between the two 

points. 

 (A) Current 

 (B) Resistance 

 (C) Potential difference 

 (D) None of these 

 

(ii) Ù e e f o e f keâ me er Ûe e ue ke â ke âe r ue c ye eF & ke âe s De eOe e ke âj  e f oÙ e e pee Ùes, le es 

G me k e âe r Ûe e ue ke â le e  ne s pe e Ùe s iee r :    1 

 (A) De eOe e r 

 (B) oe s ie g ve er 

 (C) Ûe e j ieg ve e r 

 (D) F ve ce W me s k eâe s F& ve ne R 
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 If the length of a conductor is halved, then 

its conductivity becomes : 

 (A) Half  

 (B) Double  

 (C) Quadruple 

 (D) None of these 

 (iii) e f Je Åe g led  Oe ej e ke âe s cee he ve s Je e ue s Ùe b$e k eâe  ve e ce nw ............... ~ 1 

 The instrument used to measure the 

electric current is called ............... . 

(iv) De h e vee r e f ke â mee r S ke â  S s mee r Deeole ke s â e f Je <e Ùe  ce W e f uee f KeS , e fpe me ceW 
h e e fj J e le & ve uee  ke âj  De e he  he Ùe e &J ejCe e fc e$e yeve  me ke âle s nQ~ 1 

  Write one of your habit, which when 

changed can make you environment 

friendly. 

(v) nce e j s he Ùe e& Je j Ce ke s â Ûe ej eW De e sj  S ke â me gj# e e he j le nw pee s nce W metÙe & mes 

De e ves Jee uee r he j eyeQ i e vee r e f ke âj Ce eW ke s â og < ØeYee Je me s ye Ûe e le e r nw~ G me 

h e j le ke â e ve e ce e f uee f KeS ~     1 
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  Name the safety layer, which surrounds our 

environment, and saves us from the bad 

effects due to ultraviolet rays coming from 

the Sun.  

(vi) J e n ke â ew ve-me s he oeL e & nQ pee s ue b ye s me c e Ùe y ee o Ye er De he e fj Je e f le& l e j nl es 

nQ ?         1 

  Name the substances which remain 

unchanged even after a long time.  

  2. S s mes oes le je r ke âeW k e âe  Je Ce &v e ke âe re fpe S e f pe ve me s S ke â e f Je Åeg le d Ûe gb ye k eâ ke âe r Mee f ke ä l e 

ke âes yeÌ {e Ùe e  pee me kes â ~ 2 

 Mention two ways by which the strength of an 

electromagnet can be increased. 

  3. ke ä Ùee k e âe j Ce nw e f ke â e f k eâ me er I ej s ue t e f Je Åe g led  h ee f j heLe ce W Ye t me b he ke& â  le e j  ke â e ne s ve e 

De e f ve Jee Ù e& nw ? 2 

 Why it is necessary to have an earth wire in a 

household electric circuit ? 
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  4. pe w Je-De e JeOe & ve me s De e he ke âe k e ä Ùee  De e fYe Øee Ùe  nw ? mh e ° k e âe re f pe S ~ 2 

 What do you mean by biological magnification ? 

Explain. 

  5. me b he e se f <e le e f Je ke âe me  ke âe r me b ke â uhe ve e ce W ‘ he g ve:  G he Ùe e s ie’  k es â  ce nòJ e keâ es, oes 
Goe nj Ce e W k e âe r me ne Ùe lee me s mhe°  ke â er ef pe S ~ 2 

 What is the importance of 'reuse' in the 

imagination of sustainable development ? 

Explain with the help of two examples.  

  6. Tpe e & k e sâ  ‘ ke âce  Ghe Ùee s ie’  me s e f ke âme e r osMe  ke s â  he Ù ee & Je j Ce leL ee G mek e s â me b he e s ef <e le 
e f Je ke âe me  he j  h eÌ [ve s Je e ue s ØeYee Jee W ke â er J Ùee KÙe e Goe nj Ce mee f nl e ke âe re f pe S ~ 2 

 Explain  the effects of 'reduced use' of energy on 

a country's environment and its sustainable 

development. Also give examples. 

  7. e f Ûe $ e ceW oMe e & Ùe s ie Ùe s Øee f le j esOe ke âe W ke s â me b Ùe es pe ve k e âe  ke g â ue cee ve e fye b og A leLe e 

B  k e s â yee r Ûe  ce bs %ee le k e âe re f peS ~  4 
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 Find the total resistance between points A and B 

in the combination of resistance shown in figure. 

 

 

 

 

  8. S k e â Øe lÙ e e Je lee a Oee je  (a. c.)  pee f ve $e ke s â e f me æe v le, me b j Ûe ve e leL e e ke âe Ù e &-
e f Je efOe ke â e me e f Ûe $e Je Ce & ve ke âe re f peS ~ 6 

 Describe the principle construction and working 

of an a. c. generator with the help of a diagram.  

DeLeJee 

OR 

 S k e â e f Je Åe g led  c e es šj  ke sâ  ef me æe vle , me b j Ûe vee l eLee  ke âe Ùe & ef Je e fOe k e âe me e f Ûe $e Je Ce & ve 
ke âer e f peS ~         

  Describe the principle, construction and 

working of an electric motor with the help of a 

diagram. 
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KeC[  – ye 

    SECTION – B  [ Marks : 17 

   (jmeeÙeve efJe%eeve) 

(Chemistry) 

  9. (i) De e Oe ge f ve ke â De e Je le & me ej Ce e r ce bs TOJ e & mle c Yee W k eâe r me b KÙe e  nw : 1 

  (A) 2 (B) 7 

  (C) 8 (D)  18 

 The number of vertical columns of modern 

periodic table is : 

  (A) 2 (B) 7 

  (C) 8 (D)  18 

 (ii) Ø e es h e svew ue  ce W ke âe w ve-me e  Øe k e âe Ùee & lcek e â me cet n nw ?    1 

  (A) ke â er še s ve  

  (B) S s uke âe sne@ ue 

  (C) S se f u[ne F [  

  (D) ke â eye e xe f ke ä mee fue ke â De cue 
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 Functional group present in propanal is :  

  (A) Ketone  

  (B) Alcohol 

  (C) Aldehyde  

  (D) Carboxylic Acid 

 (iii) S Le e Fve  ke âe Dee e fCJe ke â  me t$e  nw :    1 

  (A) 4CH  

  (B) 22HC  

  (C) 42HC  

  (D) 62HC  

  Molecular formula of ethyne is : 

  (A) 4CH  

  (B) 22HC  

  (C) 42HC  

  (D) 62HC  
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10. S Le s ve k e âe  met $e Je F ue s k eä š^ e @ ve e f yevog me b j Ûe ve e e f uee f KeS ~ 2 

  Write formula and electron dot structure of 

ethane. 

11. De eOe ge f ve ke â De e Je le& me ej Ce e r Éej e  e f k eâ me Øe k e âe j  mes ce sv [s ue e r he â k e â er De e Je le& 

me e j Ce e r ke âer ef Je me b ie e fl e Ùe e W ke âes ot j e f k eâ Ùee i e Ùe e  ? 2 

 How could modern periodic table remove 

anomalies of Mendeleev's periodic table ? 

  

12. De eOe ge f ve ke â Dee J e le & me e j Ce e r S Je b c e sv[s uee r he â Dee Je le & me e j Ce er k es â l e òJee W k e âer 

JÙe Je mLe e k e âe r leg ue ve e ke âe r ef peS ~  4 

 Compare and contrast arrangements of elements 

in Mendeleev's periodic table and modern 

periodic table.  

13. S se f u[ne F [ e f ke âme s ke â nle s nQ ?  Fme ß es Ce e r ke sâ  ØeL e ce  Ûeej me omÙe e W ke s â vee ce Je 

me b j Ûev ee me t$e e f ue e f KeS ~ 6 

 What are Aldehydes ? Give formula and 

structures of first four members of this series. 
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DeLeJee 

OR 

(a) h e s všs ve ke s â me b j Ûe ve e lce ke â  me ce e Je Ùe Je e W ke âe  e f Ûe $e Ce ke âj W~  3 

  

(b) c e ke ä Ke ve Je  Ke e vee  ye ve e ves J ee ue s le s ue k es â  ye e r Ûe  je mee Ùee f ve ke â De vle j  kes â 

e f ueS  S ke â he je r#e Ce oW~     2 

(c) me e F keä ue e s ns ke ä me s ve k e âe  me t$e e f uee f KeS ~    1 

(a) Draw structural isomers of pentane.  

(b) Give a chemical test to distinguish between 

butter and cooking oil. 

(c) Write formula of Cyclohexane. 

KeC[ – me 

    SECTION – C  [ Marks : 17 

   (peerJe efJe%eeve) 

(Life Science) 

14. (i) e f ve cve e f uee f Ke le ce W me s ke âe w ve-me e ne @ ce ex v e ke sâ Je ue vej  ce W œee ef Je le ne s le e    

nw ?  1 

  (A)  F bme g ef ue ve                  (B) L ee @ Ùe j e@ ef k eä me ve 

  (C) šs mše s mšs j e @ ve (D) J e =e f æ ne@ c ee x ve 
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 Which of the following hormone is secreted 

only in male ? 

  (A) Insulin  

  (B) Thyroxin 

  (C) Testosterone  

  (D) Growth hormone 

(ii) e f ve cve e f uee f Ke le ceW me s k e âe w ve he # ee r me s y e ng le ef ve ke â šle e mes      

me cyee f vOe le   nw ?      1 

  (A) ce Ú ue e r  

  (B) me j e r me = h e 

  (C) pe ue mLe ue Ûe j  

  (D) mle ve Oee je r  

 Which of the following is related with a bird 

very closely ? 

  (A) Fish  

  (B) Reptile 

  (C) Amphibian  

  (D) Mammal 
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(iii) c e ve g <Ùe ke s â  ke = âe f$e ce Ûe Ùe ve Éej e pe b ie uee r iee sYee r k e sâ  ye bOÙe he g <hee W k e âe 
Ûe Ùe ve  ke âj ke s â k e âe w ve-me e r me ype e r ke âe e f Je ke âe me e fk e â Ùee ?  1  

 Which vegetable has been bred through 

artificial selection by selecting sterile 

flowers of wild cabbage ? 

  

15. Øe c ee f mle <ke â De ew j  De ve g cee f mle <ke â  ce W De vl ej  mhe °  ke âe re f pe S ~ 2 

 Differentiate between cerebrum and cerebellum. 

16. e f Je ke âe me e r Ùe me bye bOe  e f ke âme Ø e ke âe j  Ke e s pes pe e me ke â le s nQ ? 2 

 How can the evolutionary relationships be    

traced ? 

17. pe er J eeMc e e f ke â le ve s he gj e ve s nQ, F me k e s â De e ke âue ve ke âe r e f Jee fOe Ùe eW ke âe Je Ce & ve 
ke âer e f peS ~ 4 

 Discuss the ways to estimate how old the fossils 

are. 

18. De ivÙe eMe Ùe  Ée j e œee ef J e le  ne s ve s Je e ue s ne@ ce e x ve ke âe r Yet ef ce ke â e e f ue efKe S ~ F me k e âer 
he g v eYe & j Ce e f ›eâ Ùee ef Je e fOe k e âe Je Ce & ve k e â er ef peS ~ 6 

 Write down the role of hormone secreted by 

pancreas and explain the feedback mechanism 

of it.  
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DeLeJee 

OR 

 Me j e rj  c eW le be f $e ke âe  De e Je s ie k e âe  hee fj Je nve ke w â mes ne s le e nw ? J e Ce & ve  ke âe re f pe S ~  

 How does nervous impulse travel in the body ? 

Explain. 

 s 

 




